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7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 0.00 ~ 446 556.66 | FNLS | 000 ~ 4.46 | 1.93 9.78 ThLst 1.00 | 5.00 ~ 56.00 55.66 | ThUH | 5,00 ~ 6.00)| 1.93 9.78
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 482 60.05 | =hst | 0oo ~ 482 1.92 972 Fnst 1.00 | 5.00 ~ b5.45 60.05 | EhLS | 6,00 ~ 545 1.92 972
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 492 61.27 | FnLSY | 000 ~ o000 1.78 8.99 ThList 1.00 | 5.00 ~ 522 61.27 | Thst | 600 ~ 522|178 8.99
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 527 65.70 | FNLSY | 0.00 ~ 0.00| 1.70 8.69 ThLst 1.00 | 5.00 ~ b6.70 65.70 | TS | 5,00 ~ 570 1.70 8.59
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 0.00 ~ 6.34 79.75 | EhLS | 0o0 ~ 634 1.85 9.34 ThList 1.00 | 5.00 ~ 7.60 79.75 | ThLS | 6,00 ~ 7.60| 1.85 9.34
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 0.00 ~ 5.20 64.80 | =hst | 0oo ~ 520 | 200 10.11 Fnst 1.00 | 5.00 ~ 6.40 64.80 | #hst | 65,00 ~ 640 2.00 10.11
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
st 1.00 | 0.00 ~ 6.75 85.30 | =nLs | 000 ~ 6.75| 1.95 9.84 ZhLst 1.00 | 6.00 ~ 890 85.30 | #nLs | 5,00 ~ 890 1.95 9.84
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThnLst 1.00 | 0.00 ~ 6.04 75.76 | NS | 000 ~ 000 | 1.69 8.656 FhLst 1.00 | 6.00 ~ 6.95 75.76 | TS | 6.00 ~ 6.95| 1.69 855
100kN/mM%EZ 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% 25 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
ThLlst ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




